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Bxami

Time : 3 Hours

rnsttttctlons : (i) Anstaer in sanskrit /Kannada/Engtish.
(it) Ansuter Question I, V and questionW

only.
I. Riiaihq"urrlfuSn r

iOoJDd w{ddd:* erO,el aJocgro.

Select the correct answer.
1. q6rqrrflFrq-of rtq,

(3r) qffifu': (sTr) +(qs:
2. E-dq TTTFEEqT q': t+omq ?

(3I) gtubt: (s{r) ,rtq.

g. ,Jd5qTitdqrh?

(e{) qqiri1 (eTT) v<wri1

4. qqrseqfu Efu q'' sffi ?

(.3T) qqqd-{Tq; (3rT) m:
s. e+Bqroct-iRr: {Td ,rqk 

I
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cN- 107
I ll]til illll ll lllll illi lll llll

ffi" Ed, cc-{q}, 5fl t{sd t 2x1O=2O

add> dd+rl9d sCIgo&.

Answer any two questions.

l" q"6rq-rf,{q tq-"RF{iEr-*-fl fuq fr'so t

5)6ozPo3d a6D{il&4 6106) 6aro6 ardoO:O.

Write an essay on the deveiopment of ttre Mahabharata.

2. Edq qrqq E€.eT giqts{: s?i Fuorq ? eufzrd t

ddood idnedddii:n doea o$Q.?Ed$ deri &e-:.lxrd$ ? adoxl.

How did Yudhishtira Lament on seeing his brothers dead ? Explain.

3. ua-gfluBarfr: !-r.im{f,ur €fa foso t

d11-.Ol O.1d e d o -gdore d d rl S $* i olib,ti u d osr o.

Summarise the questions and answers between Yaksha and Yudhistira.

EgE" rdnrris-d-sT{rqer-jqqF-mtq-tgfl | 3x4=L2

dlJocb d.gedd$$* ed)6oe& &do&.

Translate and explain any three shlokas.

n. qidrfls-6smr$: qrlldcRq-6: 
t

ss-{r{ffiT g ffiq df,: f,tr{ E{{4 q I I

2 " q-gtfrggaqfr t-qtwgrfiroe-q{' I

qd{qki cqfr q rr& q Yfrftrefr t t

&. tsT sTFre-trfrsfm.rq ffi eet+qt
t1i rcfE* ErA qrat tq i eot, tr

4. q(fiie-oqwgl*fr.crdTrtaqdql

$r.i sq-{cT* qrfiqftHrilGq1 I

5. mlsqqrqfd-drlqrfl1sqrfq<Rrqkf,; 1

qfg* r6rerg: t{f,f,tc gfrmqtt

$v. Ea} qrffid: ssq{ td-qgd | 2x4=8

add: aodrrldol* iodair ibd .)do:r.
Explain with reference to context on two sentences.

I. gfrtr{s rM.IEqrqFqfrdr
2. l{{r{ffiT g Rl-+q. ikT: lT{ 6{E q 

I

3. qqis-i g t vrcqsfd-qqqrk T@ qr{l

4" qs qr&ranrd qT qq+E q-dqd I
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I lllilil ltil] il il]t ilflt ilt ilt

v. Tiq-ilqrqcrrf,qfldqfrt
nofgd ?*rodobO eruqotu.

Answer in Sanskrit.
(a) rrqmf ff,$*tqqfff-Tfirfr fuqa r

(1) gfdqq el ni:"
(3) ekR: (41 yFq
(s) ffige (6) qsT{

(zl {t{ (8) snen

(b) rqnf -GrR-g€s-Tfirf{ feqr r

(1) T6rtr e) frqg
(3) ersitE $) Tq
(5) Ttl"t (6) B{k
(r) q*aq (8) rl-qfr

vI. Eq qfidq cBGr wcTillvfir&r foqo :

3 GN-107

oxI=b

5xI=b

5x2=1G
3ilm-(sft-q-(Eltt-fr: I €: (zr(eTrrq1q161q*fwletrrg*TfuqgEqqrrqeq+fltEs-(r qq-{

n gar vko: qcq: +-o-afuq: {frt: orrslt frgq; rfrqm-eq. e{qqfdg T6Tfl: I Tfl e{q: drErfr-: irqs-€
EEsT cffiVq: cFuefu'[q: Udqq: erftcqr gtqem0 s€qqfuq qqtfiqr€ r erc: tffi rnrqqffi 

1

( 1) Elcrfr': 3lsqrpqt+rq-d{q€-(?
(2) qu vfto: *'3rstZ
(3) gdvu: rfr6; q-66; f+13r-*-t(?
(4) 3fet; el(ffi; gqqT6u fu-q+'n ?

(5) *-qq qrq{ffi z
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